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What must I be able to do? Key Vocabulary
0 Solve livear equations in ove Eduation | A mathematical statement that +wo things are edual +o each other.
unknown T+ consists of two expressions, ove on each side of the equals sign.

Solve Find the value of the unknown for which the equation is true.

i Solving equations

! You solve an equation by doing the inverse (opposite) process.
The opposite of adding (+) is subtracting (-).

The opposite of multiplying (x) is dividing (+).

. The opposite of sdquaring (2) is sanare rooting (V).

whatever is dove to one side, must be done +o other side +oo.

e.q. Solve  2x =12

2x=12 _ We know 3x meaws x multipled by 3, so
;%C X_2>T to get the x on its own we need to do |
3 the inverse operation, which means

X =4 dividing both sides of the equation by 3

Note: answers may vot be integers (whole numbers) or evew
i positivel

Mou need to be careful about the order that you undo an
equation whew solving.

e.q. Solve  Ax+ 2 =14

4x+ 2 =14 we do the inverse of the
Q 2 3 +2 first as it is the last

-2 2

4x =12 operation being applied
2 = 4< > 4 o +he x ;
i X =3 :
: (4 wulttipled by x plus 2) !
i Vs
e.9. Solve % =12
o This time we canvot do
: — =12 the inverse of +2 first as
: x4l 4 X 4 o N
i it is vot the last operation
; X+2=49 i i
| . ZQ > > being applied +o the x

K =46 (x plus 2 divided by 4)

Solving eduations with brackets

The easiest way to do most guestions involving
L brackets is to start by mattiplying out the

! brackets. Tf you thew need simplify (collect the like
| terms) do so, before proceeding +o solve as usual,

i €. Solve 3(2x +5) =51 Maultiply out the
i bracket. See

-15 C er15=51 D Aloebra essentials

; x =36
; A C ) for a rewminder of
i X =6 +his.

A harder example.
L e0. Solve 5(4x-7) +2x-3 =17
Step 1. WMultiply out the bracket.

20X - 235+ 2x -3 =17

! Step 2. Collect like +erms
22x -2 =17

Step 3. Solve as normal.

22%x - 235 =17
+%6< > +29

| 22¢ =55
*224 55 5 >*22
' * "2272

Here, the final answer did ot divide exactly
(55 is wot v the 2.2 +imes table). write the
division as a fraction and then cancel i+ down,
T+is fine to leave an answer as a fraction
when the division is not a whole number, T+
could also be changed into a decimal, in this
cose 5+ 2 =25
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